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QUESTION 1 
Within which two DB2 address spaces may the execution of a DB2 stored procedure occur? 
(Choose two.) 
 

A. Workload Manager SPAS 

B. Database Services (DBM1) 

C. DB2-established SPAS 

D. Distributed Data Facility (DDF) 

E. System Services (MSTR) 

 
Answer: AB 
 
 
QUESTION 2 
Which two accounting trace classes must be active when tracing package and DBRM related 
activity? (Choose two.) 
 

A. class 1 

B. class 2 

C. class 3 

D. class 5 

E. class 7 

 
Answer: AE 
 
 
QUESTION 3 
Which privilege is required to use the ACCESS command? 
 

A. DISPLAY 

B. STARTDB 

C. MONITOR 

D. ACCESSDB 

 
Answer: B 
 
 
QUESTION 4 
You have to recover your complete DB2 system by image copies and the RECOVER utility. You 
start the recovery with DSNDB01.SYSUTILX and DSNDB01.DBD01. Which table space must be 
recovered next? 
 

A. DSNDB01.SPT01 

B. DSNDB01.SYSLGRNX 

C. DSNDB06.SYSCOPY 

D. DSNDB06.SYSDBASE 

 
Answer: C 
 
 
QUESTION 5 
You create a system level point-in-time recovery conditional restart control record with SYSPITR 
value of FFFFFFFFFFFF. Afterwards, you run the RESTORE SYSTEM utility. Which statement is 
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correct? 
 

A. RESTORE SYSTEM does not do anything, because this SYSPITR value indicates a "no peration". 

B. The specified LRSN is an IBM internal SYSPITR value, reserved for serviceability only. 

C. RESTORE SYSTEM fails because the SYSPITR value is outside the range of valid log points. 

D. The whole DB2 data sharing group is recovered without log truncation. 

 
Answer: D 
 
 
QUESTION 6 
What is a benefit of using the in-memory work file in DB2 9? 
 

A. Improves performance using TEMP database. 

B. Avoids I/Os for the declared global temporary tables. 

C. Improves performance for small sorts. 

D. Sorts a large number of rows faster. 

 
Answer: C 
 
 
QUESTION 7 
A user job runs a very long time without commit and then the application bends. The job pdated a 
critical table that is used by many applications. The back out is taking a long ime. hichstatement 
describes the appropriate action to take? 
 

A. Cancel the DB2 system since this is a critical resource that is needed by many applications. 

B. Issue the -CANCEL THREAD(token) NOBACKOUT. 

C. Let DB2 continue with the back out. 

D. Restart the system using the LBACKOUT=AUTO system parameter. 

 
Answer: C 
 
 
QUESTION 8 
By examining a DB2 accounting report, how can you determine if DASD I/O contention is a factor 
in a poor performing application? 
 

A. Divide the number of get pages by the number of synchronous I/Os. 

B. Divide the synchronous I/O wait time by the number of synchronous I/Os. 

C. Divide the asynchronous I/O wait time by the number of synchronous I/Os. 

D. Divide the class 2 elapsed time by the number of synchronous I/Os. 

 
Answer: B 
 
 
QUESTION 9 
Which three statements are correct for automatic management of buffer pool storage in DB2 9? 
(Choose three.) 
 

A. You do not need to ALTER BUFFERPOOL with AUTOSIZE(YES) to enable thi functionality. 

B. DB2 provides sizing information to WLM. 

C. DB2 communicates to WLM each time allied agents encounter delays due to read I/O. 
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D. DB2 periodically reports BPOOL size and random read hit ratios to WLM. 

E. The automatic altered buffer pool sizes are resized to the original with the recycle of th D sub- system. 

 
Answer: BCD 
 
 
QUESTION 10 
There is a suspected problem with catalog table space DSNDB06.SYSDBASE. Should a problem 
be discovered, which series of tasks could you run to analyze and resolve the problem? 
 

A. Run DSN1CHKR against DSNDB06.SYSDBASE; run REPAIR DSNDB06.SYSDBASE a necessary. 

B. STOP DSNDB06.SYSDBASE; run REPAIR DBD against DSNDB06.SYSDBASE as necessary. 

C. START DSNDB06.SYSDBASE ACCESS(UT); run DSN1CHKR against DSNDB06.SYSDBASE;  
run REPAIR DSNDB06.SYSDBASE as necessary, START DSNDB06.SYSDBASE ACCESS(RW). 

D. STOP DSNDB06.SYSDBASE; run CHECK DATA to validate RI constraints; run DSN1CHKR  
DSNDB06.SYSDBASE; run REPAIR DSNDB06.SYSDBASE as necessary, START DSNDB06. 
SYSDBASE . 

 
Answer: C 
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